Installation Instructions

(1004888)
FOLDER MENUBOARD

Each product includes
* 1 x Main body profile
* 1 xBase

* 1 x Acrylic Folder 2xA4
* 1 x Aluminium connecting plate
* 1 x A4 file holder

* 1 x4 dllen key

* 2 x Bolt M6x50

e 2 x Bolt M4x12

* 2 x Bolt M6x25

e 2 x Nut M4

* Please inform the order number on the product or on the carton (e.g. 1/110001394-460) fo the place that you have made the purchase if anyproblem with the product occurs.

« Bitte feilen Sie bei jeglichen Problemen, die auf dem Artikel oder auf der Verpackung aufgeflihrte Auftragsnummer (z.B: 1/110001394-460) lhrem Handler mit.

« LUtfen Urindeki herhangi bir sorun i¢in Urindn veya paketin Uzerindeki siparis numarasini (érmek: 1/110001394-460) satin aldiginiz yere bildiriniz.

« All ights reserved. All pictures, figures and writings are secured intemationally by copy-right law. Infingements will be sued by civil and legal law.

 Alle Rechte vorbehalten. Alle Bilder, Zeichnungen und Texte sind international urheberrechtlich geschitzt. Etwaige Zuwiderhandlungen werden zivil-und strafrechtlich verfolgt.

* TUm haklan saklidir. Tam resimlerin, semalarnn ve yazilann kopya haklan uluslararasi kanunlarla givence altina alinmigtir. ihlali durumunda sivil ve hukuki yasa mercii farafindan dava edilecekdir.



